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Question Number : 1 Question Id : 3354727331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which is the highest peak in Madhva Pradesh? | Aeames H e 3 T9E T ar g7

Options:

1. ® Lady Hill | 72T uda

2 % Kairmur Hill | % mea

3. ¥ Dhupgarh Peak | ¢ Ty
4, % Mount Logan | ATIE A

Question Number : 2 Question Id : 3354727332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
%he Indian Institute of Soybean Research is located in .| ETETH SR e T Sime foe e o fedr

Options:

1. % Indore | 22T

2. ® Dewas | o™

2. % Agar Malwa | ST HTeAdT
4 % Gualior | TaETwe

Question Number : 3 Question Id : 3354727333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the name of the Indian space mission to the Moon? | IEAT 0T ARG 1 ST e &7 @7 = 27

Options:

1. % Trishul-1 | =8@ - 1
Z % Nag-Z | Am- 3

3. % Chandravan | g4
4 ® Apgni-4 | &M - 4

Question Number : 4 Question Id : 3354727334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which year was Rabindranath Tagore awarded the Nobel Prize for literature? | TFe o Teigamer 30K & A1iged
o TolTy ATelet QREarIe & FAHT-d T =7

Options:

1. % 1911
2 ¥ 1913
3. % 1921
4 % 1923

Question Number : 5 Question Id : 3354727335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The first "White Tiger Safari' in Madhya Pradesh was started in
_______ H o1& T T am

Options:

1. ® Bandhavgarh | ameETg

.| AT WA H UgAT 'SETET STETE AT
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2. % Kanha | #TgT
3. ¥ Mukundpur, Satna | GFeET, daT

4 % Shivpuri | T9Eger

Question Number : 6 Question Id : 3354727336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
‘Pravasi Bharativa Divas (WEI Day)' 15 celebrated on

T 1 e (THTTTE Taerd)! AT ST 21

Options:
1. % 9th January | 9 Fawr

2. % 2nd January | 2 T
% % Sth January | 5 S4ai
4. % 4th January | 4 S

Question Number : 7 Question Id : 3354727337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The recentlg;proposed Indo-Japan bullet train would run between which cities? | gTd g1 § WEdTdd WRa =107 ole

o ToreT et

Options:
1. ® Bangalore - Chennai | s - =8

2 ¥ Murnbai - Ahmedabad | e SEAGEE
3. % Kolkata - Hvderabad | mlmmml—%qumq
4 % Lucknow - Delhi | mﬁﬂﬁﬁ\

Question Number : 8 Question Id : 3354727338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MNetaji Subhas MNational Institute of Sports is located at
I

Options:

1. ® Ranchi | ¥

2. % Bangalore | AR
= ¥ Patiala | gizaram

4. % Mohali | HIZTH

Question Number : 9 Question Id : 3354727339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Howr miany inhabited islands are thers in Lakshadweep? | @y # g e &7 57

Options:
1. % 13
=z % 38
3. % 33
4 % 10

Question Number : 10 Question Id : 3354727340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
which one of the following countries, jointly with India, issued a set of Commemorative Fostage Starmps on the

therne of ‘Diwali'? | SETAT & (000 0T TARE ST [CHel @1 68 AN Fe & o MU Ed 8 § S a7 % o 91T & a9
T € § FEAG 51 17

Options:

1. ¥ MNepal | w07

2. % Indonesia [ 2 HEET

3. % USh | emfE

4. % Canada | TAET

Question Number : 11 Question Id : 3354727341 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

‘Kalchakra’ ceremnony is associated with which one of the following religions? [ ‘oo THRT EieTET o7 # &
ToFey U | He 1T 27

Options:

1. # Jainism | 3 ef
2« Buddhism | 93 o0
= ® Sikhism | g aw
4. % Hinduism | fgg oo

Question Number : 12 Question Id : 3354727342 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which emperor is said to have taken elephants from Shivpuri for his army? | 7 T8 & 50 @57 907 § Tr 39
ST AT o Ty eyt & gridrt = o e

Options:

1.9 Akbar | S

2. % Humayun | gAY

3. % Sherkhan | dREH

4. % Sarmudragupt | 9EIH

Question Number : 13 Question Id : 3354727343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Yashodharman's Victory Pillars (Vijay Stambh) found in Mandsaur district is situated in______ | FeaR R H
T I FerrerdiT o foerar qaad (e ey __________ e
Options:

1. % Sondani [ @feET

2. % Chirmolia | Tmfiear
3. % Manpura [ HEYLT

4. % Afzalpur | AEAAG

Question Number : 14 Question Id : 3354727344 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who was the first worman to be nominated to the Rajya Sabha? | T=aadT | AHIRT 51 dTAT Tl AigeT ®i 7

Options:
1. % Bukmini Devi Arundale | FEa0T 227 SEse

2. % Sarojini Naidu | SEHTATIE,
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=. ® Urna Bharathi | S0 9RAT
4. % Sushrma Swaraj | GoOAT & T

Question Number : 15 Question Id : 3354727345 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which Indian business leader fled to London after being held guilty for non-payment of loans? | T o TR
WTTTT o ST T2 ST O S+ & T 127 STaIeT aT s W 7

Options:

1. % Vijay Mallya | 5= AT

2 % Mukesh Armbani | e sEHT
3. % Dilip Sanghvi | T Taer

4. % Pallonji Mistry | Tea =il HET

Question Number : 16 Question Id : 3354727346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Dr. Sournya Swarrinathan DECEIII'HE the first Indian to hOl:Ci the deputy director gereral post of which UM body?
| 2T WW@WW%WW%NW&WEﬁWBﬁEW%@?H&P

Options:
1. % Security Council | G4 THTg
2. ¥ World Health Organization | Taea oy @ma-

% % International Labour Organization | A9 S0 @9

4 % UNICEF | IA®

Question Number : 17 Question Id : 3354727347 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which Mumbai railway station witnessed an overbridge collapse leading to stampede and deaths? f FIT AT ﬂaﬁ
T T T FO G o T 7 At S e o ey g2 ot

Options:

1. % vile Parle | Toel el

2. % Churchgate | ==z

=. ¥ Elphinstone Road | Uiekeed U8

4 % Bandra | =T

Question Number : 18 Question Id : 3354727348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Chhattisgarh became a State on ___. | ___1 §o6IS UF =4 o T4

Options:

1. % 1 November 2001 | 1 9d&% 2001
2. % 15 November 2001 | 15 Fda% 2001
3. % 4 November 2000 | 4 F&=K 2000
4. ¥ 1 November 2000 | 1 Fg=% 2000

Question Number : 19 Question Id : 3354727349 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Hoshangabad district is part of which division? | S1MTeTe T fom @ @7 e 27
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Options:
1. % Rewa | &
= ® Chambal | Zrad

3. ¥ Narmadapurarr | THEH
4. % Sagar | 9T

Question Number : 20 Question Id : 3354727350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Part [ of the Flag Code of India, 2002 refers to: | YWE 1T ¢ @igd-2002 &1 9I-1, Fa74T1

Options:

1. ® Display of the Flag | = &7 0gd

2. % Display code of the Flag | &3+ &7 nad+ |fzar

=, ¥ General description of the Flag | £== &7 @A THawm
4. % Flag hoisting | o {RIEMT

Zeneral Maths and General Aptitude

Section Id : 335472229

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472229
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354727351 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ajay and Babu entered into a partnership investing Rs. 16000 and Es. 12000, respectively. After 2 months,
Ajay withdrew Rs. 5000 and Babu invested Rs. 5000 more. What should be the respective profit sharing ratio
of &jay and Babu? | SR &7 &l #AS 16000 201 &K 12000 wﬁﬁﬁmmwﬂ@aﬁ%mﬁmﬁm = ATE WTd, a4
= 5000 FU T o oI & e = 5000 w0 fgsr frm armr oIt e T HellE @ Jg SRJUTd 2T 51497 aTigy?

Options:

1.%2:32
> % 9:7
3.¢7:9
4. % 8:11

Question Number : 22 Question Id : 3354727352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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If 3xX —30x + 25 =0. then (x - 3} is equal to JATE 5x2—30x+25=04T (x-3)?
& e ol

Options:

1. % 3

= %5

3. %5

4. ¥ 4

Question Number : 23 Question Id : 3354727353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is an irrational number? | 78 # @19 € 0@ s g1 27

Options:
25
| % 225
449
+/49
3= 7
AJ125
4 \:f' ™ 25

Question Number : 24 Question Id : 3354727354 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
5% f8=2
Options:

| @ 210

2. % 40
3. % 20

210

Question Number : 25 Question Id : 3354727355 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is NOT a perfect square? | 7 § & %19 &7 U qof anf g 27

Options:
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1. ¢ 47
> % 419
z. % 00144
4. % 144

Question Number : 26 Question Id : 3354727356 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the average. | sfag Faiem

3B, 65, 34, 35, 22
Options:
1. % 38
2 ¥ 39
2.0% 40
4 % 41

Question Number : 27 Question Id : 3354727357 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Sourav and Yarruni while playing a game simultaneously roll a die and toss a coin. What 15 the probability that
the die which Sourav rolls shows an odd number and Yamini's coin shows a head? | TWT 37 A0E=TT TF 59 S
AT U o] TAT O U] hehd 5 31T U T9§T S9Tad 51 T2 T2ed T & [6f St = AT U] BehT 5, a5 UeF 1090 SEa] Saidr o &
AT T gy Ty gafar 87

Options:

Question Number : 28 Question Id : 3354727358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Simplify: / HId HIfAT:

Options:
1.¥1
2. %0
2% 05
4 % (025

Question Number : 29 Question Id : 3354727359 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

1212 13 divided by 0. 13 isequal to: [ 013 T e 121313,

23rd Dec 17 Shift 2



23rd Dec 17 Shift 2

Options:

1. % 101
2. % 111
2% 1010
4. % 10101

Question Number : 30 Question Id : 3354727360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The remainder when x% — 8x* + 2x? — 8x + 7 when divided byx — 2 is /xS - 8%+ 2xI-8x

+ 7% x-2F Taoad & 9 9%l BIaM|

Options:
1. %7
2w -7
3% 1
4 ¥ -1

Question Number : 31 Question Id : 3354727361 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
24 men carn cormplete a worlks in 40 days. To co]%lq]gflete the worls in 24 days, how rmany men are needed? | 24

T O T T 40 TAT 7 quf o e 2 @i w6y 24 Rt 8 uot ey 3 fe R et T arareaeRat g
Options:

1. % 48 men | 458 &9

2. % 45men | 45 0%

3. ¥ 40 men | 40 &Y

4. % 36 men | 36 0%

Question Number : 32 Question Id : 3354727362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Heena began peealing a pile of 44 potatoes at the rate of = potatoes per minute. Four minutes later, Chitra
joined her and peeled at the rate of 5 potatoes per minute. When they finished, how many potatoes had Chitra
peeled?jg;‘-r_frﬁm SATAT & U &¥ 1 3 316 Wid T & 8¢ 0% FiamT sed e Toe weaa, T = g | e o
S ST Wi Toee &1 98 0% I8 FIe e Ieg i F 1 an e, q9 TaEr 9 e ae e e

Options:
1. % 25
2. ¥ 20
2 % 15
4. % 30

Question Number : 33 Question Id : 3354727363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the term which does not fit in the series: ACE, FHJ, KMO, PQT, and UWY. | I8 g ®1 A %< A7 40it. ACE,
FHJ, KMO, PQT, & UWY # O51 T51 2247 2

Options:
1. % POQT
2. % ACE
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3% KMO
4 % 1Ty

Question Number : 34 Question Id : 3354727364 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
104% can be expressed as: | 104% & 59 945 & =2 [94T AT 9F4T -

Options:

1. % 10400
2.0% 104
2% 104

4. % 1.04

Question Number : 35 Question Id : 3354727365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The respective ratio of the dg2s of Wimal and Aruna is 2:5 and the swm of their ages 15 80 yvears. What will be

the ratio in their ages after 10 vears? | To0a 3T R0 &1 71 7 GaT6d ST 3:5 & &€ 30! Mg # am 20 a8 g1 10
T o TG, T AT FT ST FAT §ITT7

Options:

1. % 2.2

2. % 3.5

3 ¥ 23

4 % 1.z

Question Number : 36 Question Id : 3354727366 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a prime number? | 77 8 & 219 9 aR=g 9%a7 751 87

Options:

1. % 137
2. % 181
3% 173
4 ¥ 182

Question Number : 37 Question Id : 3354727367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
1060201 is divisible by

Options:
1. %2
2 ¥ 11
2% 9
4 % g

Question Number : 38 Question Id : 3354727368 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The average of the numbers 136, 236, 336, 436, 536, 636, 736, 836 is
636, 736, 836 &7 &Eg

| FEATA 136, 236, 336, 456, 536,
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Options:
1. % 438
= % 5326
3. ¥ 486
4. ® 5ZE

Question Number : 39 Question Id : 3354727369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If 3x + 6x-17=0. then (x+1 isequalto . /T0¢ 3x2 +6x-17=0,4l x+1¥ &
e Bl

Options:

1. % 20

= ¢ 20(3

3. % g

4 % 14(3

Question Number : 40 Question Id : 3354727370 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If 1761 + 287 + 149 -x = 1004, then x =7 | AE 1761 + 287 + 149 -x = 1004, Irx =7

Options:

1. % 1103
=z ¥ 1193
3. % 1183

4. % None of the above | Jud% # & #1E T51

Cereral Hindi

Section Id : 335472230

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 335472230
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354727371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T T eI Iad &7 FEAET &l
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Options:

1. % @i
2 ® \igeg
3. % OrgamET
4. g

Question Number : 42 Question Id : 3354727372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
WETHIT 2251 o JETEe0T &)
Options:

I

2 %@

2% AT

4 ® @F

Question Number : 43 Question Id : 3354727373 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TAH | B AT Jeg, ged AT AT 5 7
Options:

1. % ae

2 ® gt

2 ¥ e

4 % R

Question Number : 44 Question Id : 3354727374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

o aeg, | {0 Herel W Fe 7
Options:

1. % @y

2. * Wpe
. %
4 & et

Question Number : 45 Question Id : 3354727375 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

=ty Feret & vger ' ATy g e EE H g grar e AT
Options:

1. % glegidd

2 ® g

2 ¢ st @ et

4. % gae

Question Number : 46 Question Id : 3354727376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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“FET B oA g # # w@ T arae
Options:

1. foremar

2 ® TEET

3. % T

4. % e

Question Number : 47 Question Id : 3354727377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT L T FTEIA AGTGr & Tordl U 5, 49 H 7 FI4 67 &7
Options:

1. % omt

2 % o

z. % ohEd

4. & e

Question Number : 48 Question Id : 3354727378 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

o et T Fe d e et aree
Options:

1. % 2+

2 % fam o+ W

3 ¥ T+ T

4 % g+ T

Question Number : 49 Question Id : 3354727379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Qelerd | o Tl Seg 195 § | i &1 57
Options:

1. % ngi

2 ® nfafkr

2. ¥ Feadl

4 % wadr

Question Number : 50 Question Id : 3354727380 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T It & o g TR A A A 2

Options:
1. % Ty
2. ® dar
3 % dr
4. T

Question Number : 51 Question Id : 3354727381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

TP Jeg H 49 H & ®I4 |1 90 &7
Options:

1. ® gty gare

Question Number : 52 Question Id : 3354727382 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘UT H T FaAT qErad @ af W 8 Fwe A g?
Options:

1. % U7 % I gy FaqT

2 ® wwHE-E R

3. ¥ S T T

4 R UT @ AT

Question Number : 53 Question Id : 3354727383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“UTEAT 1 If & g H & B AT 87
Options:

1. % ogtar

= ¥ UgEl

3. ® origer

4 % gige

Question Number : 54 Question Id : 3354727384 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT T W R T SR A R AT e

Options:
1. % zmy
2 o ToEg
3 % @y
4 % g

Question Number : 55 Question Id : 3354727385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Corrlect 01 Wrong: 0
EASKALE Y T .
Options:

1 % gy aEwR

2. & T @

3. R IEUYT STEET

4 ® IOF AR
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Question Number : 56 Question Id : 3354727386 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
o ™y sreg @ e e Al | & g - e

Options:

1. % Toene @7 aTud icad g9 ool oF JTer AT T2
2. ® T gegpid® FrEEmal F AT T TEm
3. e arfaer @ waTTe weret g T mem

4, ® T AU & W B BT GH g

Question Number : 57 Question Id : 3354727387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Options:

1. ugie o [T @ o U § g a1 Jodd)
2 % wE o T FA W IOAGT H I ST Soean
3. % U oy [T F F IOAGT H 51 ST Joean
4 % ot e W7 F W AT H g ATAT Joela

Question Number : 58 Question Id : 3354727388 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T T anf § -

Options:

1. % Ty AT &7 5287 7 F JwEy g
2. % gy AT S EeaT A g

3. ¥ Toew =i & Wee seaT RN

4. % ey St o R En

Question Number : 59 Question Id : 3354727389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

i gl H-dmaia gm E -
Options:

1. ® sER-3=w

o ® mE-ug

3.V a2

4 % pEH-TE

Question Number : 60 Question Id : 3354727390 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

" ATOTAT WHHIH—%’IEEIT:I'IEUI
Options:

1. & SO T AT

> % gy s

3. ® g On T

23rd Dec 17 Shift 2



23rd Dec 17 Shift 2

4, % gNuT ghaT
Fural Economy and Panchavati Eaj
Section Id : 335472231
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472231
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354727391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is NOT a nationalized forest produce in Madhya Pradesh? | FETRET & @1 91 72 0

T 9 S0 A £
Options:

1. ® Tendu leaves | dg U=l
2 % 5al seed | A A

3. % Kullu Gum | §ed TH

4 % wild Grass | FE H

Question Number : 62 Question Id : 3354727392 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MNEEGA -5ahastradhara scheme pertains to: | A= - T5 TR T-T See Jarad o

Options:

1. % Forests | 99

2. % Drinking Water | U5 o

2. % Cleanliness drive | TaegdT AT

4. ¥ [rrigation | W=

Question Number : 63 Question Id : 3354727393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
According to a ICAR study report in 2015, the post harvest loss of cereals (curnulative wastage) is estimated to

be ________ | 2015 o U TSR aree o TTelh, e 3 allg ST (Gl ST @7 JedT ST,

Options:
1. ¥ Less than 4% | 4 Widad & &7
2. ¥ 465 - 5.99%
. % 1077 - 15.65%
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4 % 208 -9.96%

Question Number : 64 Question Id : 3354727394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who functions as Secretary to the District Planning Cornmittee? [ FaT T=-T 90 & ORd & ® 7 S b1 57
Options:

1. ® President of District Panchayat | F#T U=t & sTeTy

2 % Member norminated by the state government | =4 TRW gml ATHT T2
% % Member of a municipality | TTROTEET ®7 H36T
4 % District Collector | Faematar

Question Number : 65 Question Id : 3354727395 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is known as “Yantradoot Gram” in Madhya Pradesh ? | He= W& # “Iaod WA @ 19 & Tore (7 =0T 57

Options:

1.IO ® villages without any machinery | Rafer TgH mar

2. ¥ Fully mechanized villages | qof &7 & AafigT T

3. % Villages having electricity | =T &1 IUFEET STt T
4. % villages having water purmnp | =TT 07 =16 e

Question Number : 66 Question Id : 3354727396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The famous Tendu leaves from Madhva Pradesh forests are usedin ___________ . | FE W o ST | WA oG o el
T FUAT

Options:

1. ® Cigarette industry | &M =T

2. % Food Processing industry | EELRaw@e0T I
% % Handicrafts industry | 5o 19w SeiT

4. ¥ Beedi industry | ST J=IT

Question Number : 67 Question Id : 3354727397 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following schemes was merged with Sampoorna Gramin Rozgar Yojana? | 78 # & &1 | i,

Options:

1. ® Swarna Javathi Gram Rozgar Yojana | ©@ui =2 1 TR TR JET

2. ¥ Jawahar Gram Sarmridhi Yojana | FaTEe WTH TH5kg Fr-T

3. # Mahatma Gandhi National RFural Emplovment Guarantee Scherne | BETeAT T TP TTHIT TR TR FHT
4. % Rashtriva Krishi Vikas Yojana | TR Y THeEme T

Question Number : 68 Question Id : 3354727398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
NMOOP stands for : | GAumEaIraidT &7 quf &7 ¢

Options:
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1. % Mew Methods of growing il Seeds and Oil Palm | 3 BeEd A1F TSI 190 6 U2 A1 uid
2 % National Mission on il Palm cultivation | Se=er i ST ST UTH ®ed i

3. ¥ National Mission on Qil Seeds and il Palm | =39d T 19 #1097 Hi24 U2 A7 0

4 % National Museurn of ©il Refineries | =ae i &9 sToe TwgaorT

Question Number : 69 Question Id : 3354727399 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Pradhan Mantri Fasal Bima Yojana was launched in the year: | WA=t Bae SAT J91 61 gead =g o § & 1 ot

Options:
1. % 2013

> ® 2014
= ¥ 2016
4 ® 2017

Question Number : 70 Question Id : 3354727400 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The scheme for providing all-weather roads to unconnacted habitations and villages is

TaTa- T S ! 1 THET HEH 96T G2 Ha T He aTaT T
Options:

1. # Sansad adarsh Gram Yojana | T T2 T F=-1

2. % Pradhan Mantri Gram Sadak Yojana | e F=7 U0 GSF a1

% % Pradhan Mantri Eharat Jodo Parivojana | We= A=l 9T S1& T T =T
4 % Setu Bharatarn | @ 9RaH

Question Number : 71 Question Id : 3354727401 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When did the NREGA prograrmme gorie into operation all over India? | UAsTRESIT HTHEA G ARG H @l Fllod g7

Options:

1. 01.04.2008
2. % 04.05.2010
3. % 02.08.2010

4. % Mone of above | IRIGT H T FE 51

Question Number : 72 Question Id : 3354727402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where is Tropical Forest Research Institute located in Madhya Pradesh? | we wdar ¥ gTiuewe B e o seeieg
FET TR 2

Options:

1. % Rewa | ¥4

2 % Guna | AT

3. ¢ Jabalpur | FEAqT

4 % Indore | g2

Question Number : 73 Question Id : 3354727403 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

The main objective of Tribal Research and Development Institute in Bhopal isto ________ | AT § T A
AFE T T T G IR ________ H
Options:

1. #® Provide employrent for the tribal cormrmurnities | S=Td 7 ageral # i TATR S0@ee F]

2. % Do research, survey and analysis of tribal culture & issues | =14 (2 GEET U TAEATST o T § aiter, @
EEREE LUETE

3. % Promote education among tribal children | <= 11 et @ T =t sgrar g
4, % Do research on how to make them migrate to cities | 3% M5 H &6 o 60 sver s =0

Question Number : 74 Question Id : 3354727404 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Greening of potato results in: | e T 54T 5T, S heldaed 51T &
Options:

1. % Increase in weight | 9% # Thy

2 % Increase in nutritional quality | T & 0T H kg

3. ¢ Decrease in nutritional quality | T9eT & oradT § FHT

4. % Decrease in weight | 9% d @A

Question Number : 75 Question Id : 3354727405 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The P%nchagrat funds can NOT be kept in which of the following? | w=mae &t i e & & Gead a8t ot =

Options:
1. ¥ Government Treasury | TN H1Y

= % post Office | ZTaT
Z. % Nationalised Bank | TEo@T d@
4. % Private Bank | == <@

Question Number : 76 Question Id : 3354727406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Eural dEVElemEHt ExpEHdituI‘E has been increased in India from Bs. EEEZ0 crin 2012-14 to ElpperiﬂlEltEl‘g.?
__________ in 2016-17. | 9% # AT T =0, 2013-14 § 58630 #00 § @519, 2016-17 # e

Options:

1. % Rs. 80000 | 80000 FIE #00

2. % Rs 95000 crores | 95000 FTi 700

% % Es. 120001 crores | 120001 F2rg 7007
4. % Rs 150001 crores | 150001 #RE 700

Question Number : 77 Question Id : 3354727407 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Indian Council of Agricultural Research (CAR) was first reorganized in: | W 14 F1Y STIEEH TG
(ATSHTTSTR) T URell o 50 a9 | Gariiae T T 4.

Options:

1. % 1956
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2. ¥ 1965
3. % 1989
4. % 1972

Question Number : 78 Question Id : 3354727408 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Under Pradhan Mantri Gramin Awas Yojana, the housing unit constructed should be in the name of

| TEITTHAT TTATT ST AT 9 39774, ST A 21T T o ATH §IAT =TE

Options:

1. % Male head of household | OET & 7o giEar
2. % Female of the household | oftar & AfgaT

= % Sarpanch | w0

4. % Secretary | T

Question Number : 79 Question Id : 3354727409 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What 15 the masxirmum subsidy to a SC5T individual beneficiary under Swarnajayanthi Grarm Swarozgar
Yojana? | Tamd [ 0T SR AT o ST e S SR S a sa T ATt & S steema T arae
T HIAT TRl 7

Options:

1. % Rs 12000/-
Z % Rs 10000/-
3. % Rs 7500/-
4 % Rs 5000/-

Question Number : 80 Question Id : 3354727410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Swggrnajagranthi Gram Swarozgar Yojana was launched in the year; | @i 4T TTH T =T 99 o # 397

Options:

1. % 2014

= % 2008

3. % 2005

4 9 1993

Cormputer Knowledge

Section Id : 335472232
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
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Sub-Section Number: 1
Sub-Section 1d: 335472232
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354727411 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

DOS stands for: | STSTE &7 Q0T &9 51aT &

Options:

1. ® Distance Operating Systern | 26989 s Faen
2 % Direct Operating Systerm | STEREe AT fHen
3. ¥ Disk Operating Systern | T28® s e

4. % Digital Operating Systermn | 2Fea s Reea

Question Number : 82 Question Id : 3354727412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

NIC stands for: | UHMEET &7 ol &7 &

Options:

1. % Network interface connection | STad 5e0hd Fgad
2 % Metwork interface card | Sodd soihd F2

2. % Network interconnection card | S2awd sei@ga #le

4 % Network in connection | Hder 5 F-Eaa

Question Number : 83 Question Id : 3354727413 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
3 bits 15 equal to

——a a5 o e Ielt §1aT gl

Options:
1. % 5
2. ¥
3 % 15
4 % 24

Question Number : 84 Question Id : 3354727414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the f-::gl]lowing malicious program do not replicate automatically? | THRARET # & ®14 A7 ATA TS 0w
TIOT: W@l 5] a=TaT 57

Options:

1. % Trojan Horse | 2 E1E

2 % Virus | gRE

2. ® worm | 90

4 % Zombie | AWt

Question Number : 85 Question Id : 3354727415 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
which of the following is NOT an input device in a computer? | FRARET § & ®19 Af Zaa, FHgee & 0% 5
SaTEE T £

Options:

1. ¥ Kevboard | #aig
=, ¥ Monitor | AT
2. ® Mouse | ATIH

4 % Scanner | Gt

Question Number : 86 Question Id : 3354727416 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

which shortcut key is used to display the format cell dialog box in M5 Excel 20077 | UHTH UFHA 2007 § BTHT
A STAATT S B 2o e o ol _____ T A AT T ST

Options:

1. ¥ Ctrl + 1 or |

2 ® Ctrl+2or @

3 % Ctrl+ Sor #

4 ® Cirl+4dor §

Question Number : 87 Question Id : 3354727417 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The use of Styles Tab in M5 Word 2007 is to: | TATE 92 2007 ¥, TEAH o F1 SHIATA SEF o 51aTl &
Options:

1. % Include Tables and Charts | S=c T9TTTE @ AT ®e

2. % Insert Pictures, Shapes and Smart Art | =IF, SEE(dAT 797 GATE TE §80 e

=. ¥ Provide formatting instructions for Titles, Headings, Paragraph, etc | TEiced, gi2e, TR sqars & f#
TR SHE I UaT e

4 % Design marging, add columngand sections | AT IS8T 3, F1ad A Hpad Al

Question Number : 88 Question Id : 3354727418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following action cannct be performed on a received e-mail? | WIqd T T Het wE o # § a7 @
TRl TeRT AT FeFaT 57

Options:

1. % Reply to the ermail | SHA & Iqa€ &7

2. ¥ Add attachment | SR ST FAT

2. ® Forward the ernail | BF & GHde o7

4 # Delete the email | B &1 2o @07

Question Number : 89 Question Id : 3354727419 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is a set of instructions called? | W4t T TE FT Fgadl 57

Options:
1. % Program | WHH
= ® Software | Higecaw
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=. ® Hardware | gI2eR¥
4 % Sequence | digded

Question Number : 90 Question Id : 3354727420 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

DOS stands for: | SIETE &1 Y0 &9 5iaT &
Options:

1. ¥ F3

2. ® FS

3. % F7

4 ¥ F11

Question Number : 91 Question Id : 3354727421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhich one of the following shortout kevs 15 used to create a new docurment in MS Word 20077 | qnwaﬁ 2007
B e T ST T A F T AT & R e & s T e £

Options:

1. ® CTEL + 5

o ® CTEL+ O
2. ¥ CTRL + 1M
4 ¥ CTEL+F

Question Number : 92 Question Id : 3354727422 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
& four core processor is known as: | % BT FI WHET T FEamar &

Options:

1. ® Dual-core | ZSE-HIT
2 ¥ Quad-core | FAE-FIT
3. % Uni-core | IH-#1T

4, % single-core | FHTA-FIE

Question Number : 93 Question Id : 3354727423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Internetisafan ________ I EEETUE H

Options:

1. % local cornputer network | #Twe BHYZET Jedd

2. % worldwide network of cormputers | FAREH FT Teaaaamdl "gad

z. % interconnected network of computers | THYIEY B eld-ges Hedd

4, ¥ worldwide interconnected network of cornputers which use & cormmon protocol 1O Cormrmunicate with one
another | FHICH FT et Sethges "ead § =l Gh-gat & BHgFde B & T60 T FTHA WIS 0 16 BT S BT

Question Number : 94 Question Id : 3354727424 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In cormparison to the main mermory, the disk mermory is: | TG AR & -1 §, 129w aui

23rd Dec 17 Shift 2



23rd Dec 17 Shift 2
Options:
1. ® Slower and rmore expensive | e 31T ST TR 5dl 8
2 ¥ Slower and less expensive | #AT :T #0 gezaH
3. ¥ Faster and more expensive | o 31T sITEe TRem
4 % Faster and less expensive | 9 ¥ F0 Gegamd

Question Number : 95 Question Id : 3354727425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

When Inserting a table in MS Word 2007, we first specify the _______ | S THTE g2 2007 H UF dod ® e
TFT AETE, aﬁﬁgﬁﬂaﬁusﬁ ______ TS FeT EIaT &1

Options:

1. # Border for the table | Ta & @y 918t

2 # Size of the table | a6 &7 HTHT

3. % Color for the table | T&d FTT

4 Number of rows and colurnns for the table | #& & 70 T &% FTad & a5

Question Number : 96 Question Id : 3354727426 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The word cormputer has been derived from which one of the following languages? | &g TR HHAGET § &
Tepey AT & o mam B
Options:

1. % Greek | W

2. % English | a=T
3. % Spanish | quiTar
4. ¥ Latin | @9

Question Number : 97 Question Id : 3354727427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option-Orientation : Vertical

Correct: 1 Wrong: 0
The smallest entity in M5 Excel is: | THWR Tadd H a9 Fle] 5908 &

Options:

1.9 Cell | &

2. % Page | U9

Z. % Book | g%

4. % Worksheet | Faafle

Question Number : 98 Question Id : 3354727428 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A device that connects cormnputer or router 1o broadband networlk: 15 called

T HEas A dASa s, FRAET Bl
Options:

1. % Moderm | A1=H

| ag TEamsd A FHRET A7 90

2. % Firewall | BTaedre
3. ® Memory card | HART F12
4 % Jump drive | FATZES
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Question Number : 99 Question Id : 3354727429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

When you enter text in a cell in M5 Excel, it also appears in the _______ | S T AT UEEd § U e | e o9
Fd S, AT ______ H ot Tmar 21
Options:

1. ® status bar | egd aR
2 ¢ formula bar | BTHAT aX
% % row heading | T EfET
4 % name box | 9T 91FH

Question Number : 100 Question Id : 3354727430 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Wwhat is the masximum font size you can apply for any character in M5 Word 20077 | UHIT g2 2007 |, ToFeT anm

Options:

1. ® 163
=z ¥ 1638
3. % 16038

4 % MNone of the above | IWigd # & F1E T51
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